R Script for the Hamilton Test (or F-test) 

by Dr Sotirios Vasileiadis, University of Thessaly
Additional notes by Dr Ryo Sekine, University of Sunshine Coast

Open the R software and type the commands exactly as provided below. The lines preceded by “#” are just comments and should not be executed in R.
# If you would like to know which is the working directory (in your case it is the Documents folder), type:

getwd()

# So the script with the function you want to use should be placed in that directory before loading it.
# For loading the script, type the following:

source(“Hamilton_Ir.r”)

# (by Ryo) the quotation marks won’t work if you copy and paste the above. After you paste, re-type the quotation marks.

# If you want to see the script contents just type the command without brackets as shown here:

Hamilton_Ir

# If you would like to run it, you need to provide the a, b, lowest R (r_low) and highest R (r_high) values, as shown here:

Hamilton_Ir(a,b,r_low,r_high)

# Your result must be printed on screen 

# (by Ryo) A note on the above variables:

# a = half of the lower bound of the number of degrees of freedom. If we estimate that there are 20 degrees of freedom (6 “peaks” with height, width and centroid =18 + edge energy and width =20), and know that there are 4 standards in the fit, then degrees of freedom = 16 and half that =8
# b = half of the total number of new free parameters that have to be added to switch from fit A to B
# r_low = the lower R factor (i.e. the better fit)

# r_high = the higher R factor

